Response Ratio
0.8+

Bromomethane

1.5 2

Amount Ratio

R = 2.88e-002 A*A + 1.64e-001 A + 1.50e-002

Coef of Det (r"2) = 0.998

Curve Fit: Quadratic
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Methyl lodide
Response Ratio

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 7.69e-001 * Amt - 8.69e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear
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Response Ratio
0.8+

Bromomethane

1.5 2

Amount Ratio

R = 2.88e-002 A*A + 1.64e-001 A + 1.50e-002

Coef of Det (r"2) = 0.998

Curve Fit: Quadratic
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Methylene Chloride
Response Ratio

1.8+

1.6+

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 5.64e-001 * Amt + 8.09e-003
Coef of Det (r"2) = 0.999 Curve Fit: Linear
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